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Topic:- Child Development & Pedagogy (CDP)

is associated with retardation in various aspects of development / e &
ﬁf‘ua ugqgell § Hear 9 931 81
1. Medium Intelligence / ACIH gﬁg"
2. No Intelligence / G Y Tgfa' Tl
3. Higher Intelligence / 3T q@’
4. Lower Intelligence / 3G 'gfa'
Correct Answer :-

. Lower Intelligence / #g gfs?f

2) In child centred education, what the child has to leafn should be / STel-hfga frem #, a3
1 S Wrger TR, a8 AFaR siwal e

1. Judged through activities /ITfafafaat & aTeTawT @
2. Judged by the scores of their test results/3<Tch GJ&TT URUTAT & 3pi &

3. Judged according to the ability, interest, capacity and previous experience of the child /d<d &1

TG, ¥, &7 R ATl AT & IHFAR

4. Judged according to the previous experience of the child /I=d & UG 3JHd Gy IR

Correct Answer :-

« Judged according to the ability, interest, capacity and previous experience of the child /d=d &r

1T, 2, &TAT 3R U ¥ & IgaR

3) Child centred education typically involves: / T Hfga e & 3m ak W @ anfae

B'FIT %:
1. on the spot assessments/ FBT—T a7 i W ZFLF?JI'IEF[


Lenovo
Stamp

Lenovo
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2. no Assessments/a"ﬂg EFJC/ZI'IEFH Tl

3. more summative assessments/37T%eh JTcHD d-‘Lvé-liCho-l

4. more formative assessments /3119 TTATCHD HedThed

Correct Answer :-

« more formative assessments /37T TTATHD d-jyﬁidno—l

4) Which of the following are features of progressive education? / &=ifaf@a & & sia-dt
yerfarefier frem &t fQdwame g2

1. Instructions based solely on prescribed text books /faéer dpaa AaiRa arod W?ﬁf T
IR 8 &l

2. Flexibility on the topics that the student would like to learn/3a7 fawdl W FFadr
(FeifFafaferdt) s o e aed §

3. Emphasis on lifelong learning and social skills/Sflaed Gded 3fQereT 3R Amenfaie wlerer o
SR &=l

4. Emphasis on scoring good marks in examinations/TI&T3AT 37T 31 ollel U S el |

Correct Answer :-

« Emphasis on lifelong learning and social skills/3fidal Gded ATAH 3R ATATTGIH DTl TT
SR &l

5) Performance intelligence is measured by: / gl gﬂ'ﬁ' o T & GART AT SITdT EH
1. Verbal Ability/ FIT&® 7T

2. Comprehension / HAST

3. Numerical Ability / H&ITcHD &

4, Picture Arrangement / IBERZCE

Correct Answer :-

« Picture Arrangement / T cIaeT

6) "A thing can be learnt by the study of it as a totality" This statement is based on which
learning theory / "U& HfST # FHAAAT F T H 3US JCIIT ¥ WWT AT Tl 1" Tg
Fya frw Rraror Rguia v smafa @



1. Instrumental conditioning / SEEHC hBIRMTAI
2. Insight Classical conditioning/ Fae® RRufaBa Uldheldd (3T8TSC FATT TP HSIATAIT)

3. Trial and Error/ W-gﬁ' ey

4. Classical Conditioning/ FRUfafBa U] gele (FATT AR HBIRATIM)

Correct Answer :-

« Classical Conditioning/ IBECIGIES] Ul Reled (FATT AT HSIRATII)

7) The word ‘consistency’ is associated with: / eg “WHATY” AW FafAd &
1. Personality / <dfthcd

2. Attitude / HATGRT

3. Intelligence / g@

4. Motivation / OROTI

Correct Answer :-

« Personality / &dfthcd

8) The prejudice against a person on the basis of sex of that person is /W& afda &
foer & 3R W, 39 wafFd & R@E q@eE (J879) giar gl

1. Gender stereotype / ofaleh Fleagdr (SisX TEIRAEET)
2. Gender bias / ofdTep ASHTT (SIsT A15319)

3. Gender identity / CILCR EEIG R EL 3-]'[?3%@[ )

4. Gender issue / oifolh el (&ES )

Correct Answer :-

« Gender bias / offfTp Feda (ST d15379)

9) The smallest bone i.e. stapes in the human body is in the ear. [ATIG WR H Fa& BIA
gge i ¥ & & gt §1
1. Inner / 3eX

2. Middle / S &



3. None of these / 3AH & PIS el

4. External / T

Correct Answer :-

« Middle /7 & &

10) The last stage of psychosocial development is / FNATATTS® AT @1 3faw =or § -
1. Identity v/s. Confusion / Ugdld dATH HHA

2. Trust v/s. Mistrust / fJa%ma aama 3ifasama

3. Generativity v/s. Stagnation / 3¢Rdl JATH SeXId
4. Integrity v/s. Despair / 37@sdT dATH AT

Correct Answer :-

« Integrity v/s. Despair / 37@adT dATH AT

11) The study of same children over a period of time is known as study. / Th
fAuRa a7y 1 39 & P o= T<9 & egga #: HEIIT F T F ST
ST R

1. Longitudinal / 37Ja¢d (cAleaficgsee)

2. Cross-sectional / UTAfACATcHD (hIT Tl

3. Latitudinal / 3787l (Sélcggeren)
4. Experimental / 9T foTeh

Correct Answer :-

« Longitudinal / 3{S¢Y (S=aNcgged)

12) Which of the following is a limitation of Eclectic counselling approach? / RFafaf@a qa
Fla-H agorelier AT TReHIUr (sFafFes FEafaer o) i HaT &2

1. requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38
WA BRI H T ATeAD AATAT B FAIRAT e & AT 31cafd Hre
TRTAANCGTATIT Pl ITGRIHAT Bl B

2. more flexible approach of counselling / WA &1 3HAD gi%r%naazﬁ HECINI



3. more cost effective & practical approach / 3cafdd YHTA 3R IaeRe TiB®OT

4. more objective & coordinated approach of counselling / WA & 31fF 87 3R Fgafead
HEEaL

Correct Answer :-

« requires highly skilled counselors to handle the dynamic feature of this counselling approach / 38
WA AT H T ATeAS AATAT B AT e & T 31cafd Hre
TRTANCGTAT3T T ITaRIHAT Bl B

13) Which of the following is the best way the teacher can guide children with special needs in

school education? / fAFafaf@a & ¥ #la-ur afiewr ¢ Bwd F Raw ﬁa:ﬂﬁl'!ﬁ fram &
fay smagFart are gal 1 ANGYT FT THS {2

1. Give higher challenging tasks / 37fQ® ga‘rahtgo‘r P ST
2. Give more tests / 3779 UJ&TOT AT
3. Providing support and tips / &AT 3R g&d et

4. Provide more homework /31T dj_eqvléfl Ucldd il

Correct Answer :-

« Providing support and tips / a1 3R gsd el

14) Which of the following is an example of a lower order need in Maslow’ hierarchy of needs? /

farafaf@a & @ Fla @1 A it rEeIFAEH F IGTHA A AT FA A
HTERIFAT FT TH 3GT6T0T 872

1. Esteem needs / TFATT I AT ITT
2. Self-actualization needs / 3TcH-IY T ITITRATT
3. Safety needs / gI&IT $r ATTIRATT

4. Love and belongingness needs / TIR Td JUAUA Pl HTGIBATT

Correct Answer :-

« Safety needs / gI&I hI ITARIDATT

15) Which among the following types of intelligence would be most used when trying to navigate

through traffic? / AFafaf@a & & fFw yoR A B 1 303, I@RET F Aeww F
Afadie FA A FRNT FG T77 fvar seem



1. Naturalistic intelligence / m gﬁs’

2. Spatial intelligence / TATAH Eﬂ?’
3. Interpersonal intelligence / AT Thed gﬁs\’
4. Emotional intelligence / #HTdATcHD @

Correct Answer :-

« Spatial intelligence / TATTA® g@'

16) A child receives a star for every correct answer she gets. What reinforcement schedule is

being used? / TF Tt A & WA 3N & v wF TR Aaar 81 fFw gedaor segh
&1 39T R 9T W@ 87

1. Variable ratio reinforcement schedule / TR Agurd ﬁ%élaﬁlul AT
2. Intermittent reinforcement schedule / HTARTA® ﬁ?aWT T
3. Partial reinforcement schedule / 371k ﬁ%élaﬁwl T

4. Fixed ratio reinforcement schedule / AR 3Teq4rd @eé\lcmw 31@%154{]

Correct Answer :-

17) One of the characteristic features of a Constructivist unit of study is that: / 37eggeT i TH
TATCHSRAIEIG SHh1E 61 THh {dvar a8 & &

1. It starts with what children know as an effective departure point for the lessons. /S&ehT [B3ATA
SEY Bl & 5 a3 urs & fou veh gwrdr geAre g & & A Sed 2

2. Tests and assignments are aimed only at assessing the lower order thinking skills. / STTa (SEC) 3R

faaa e (3TEAsT) BT 35T dhad e TAT AT PIRIA HI 3Thold HLAT BidT &l

3. It is propagated solely through teacher instruction. /IJg C[UTHZ et & A6 & ATH |
TR R ST ¥

4. Asking questions is discouraged in the learning process. / W TSl 37T9TeT &1 gfehar A
Edlcafed dT B

Correct Answer :-

« It starts with what children know as an effective departure point for the lessons. /S&ehr LB3ATA
SEY Bl & 6 a=d urs & fou v Tl qEAre fig & & A Sed



18) Reading skills can be best developed by: / T&sT ®IRIel Y $H UTHAT GART HIH 3B
@ fasfd fFar s aFar &

1. Writing answers / 3o fer@er

2. Playing word games /doing quizzes / g8 ANA Welel / foFast o

3. Focusing on the use of words in the text / OIS H QTeg] & AT W AT higd BT
4. Doing vocabulary exercises / A<GIdell H¥FITH AT

Correct Answer :-

« Focusing on the use of words in the text / UT& 3 QUeql & 3UANT W AT dhigd el

19) Irrespective of the kind of impairment, all children are capable of: / et R 6
ARG & FTaog, T T AFT F warH A §:

1. Movement / Teled

2. Hearing / '{F—!T-T
3. Learning / €@

4. Seeing / ¢@aA

Correct Answer :-

« Learning / §1@a

20) What are inborn patterns of behavior that are biologically determined also called? /

AR F SeHad deet S Na-faer F sqar Auia g &, 378 I ot Fer a1 &
1.1d / ugaTd
2. Drives / gISd

3. Instincts / Heol AT

4. Intelligence / gi@iﬂal

Correct Answer :-

o Instincts / Heol JAlA



What are the symptoms of Post- traumatic stress disorder in children? [aeat H qg-HTETT
ddg RAFR (NFe gAfes Feu BU3iEy) & Jafor a7 §2

1. Avoiding places or people associated with the event./ €T & Tg@ TAET T AN F IaT|

2. Having to think about or say something over and over. / dR-dR $S hea IT 3Hb dX H

|
3. Not have an interest in other people at all. / Q\HI‘I A W T & gl
4, Becoming annoyed with others./ qullul q AR et

Correct Answer :-

« Avoiding places or people associated with the event./ "l a %@; TATAT T A F AT

22) What type of theory is one that proposes that development depends on things that are
inherited through genes? / & Y& &1 ﬁa}ﬂ? g JE¥d ST t & e 39 9iet W
ft #tar § S e & Aegw @ JAnE §?

1. A deterministic theory / U faafdarg fagid
2. A social theory / Teh HATSID AgTd
3. A nature theory / Uch CI'F@T%F—F Rrgid

4. A nurture theory / Ueh Urelel-uiyor Rgid

Correct Answer :-

A nature theory / Udh CI'I?{?%EF RrgTd

23) What type of thinking is associated with creativity? / & &R &1 Raa orarefierar &
HafeT giar 82

1. Convergent thinking / 3fRIRT AT

2. Divergent thinking / 3TeldT @I

3. Insightful thinking /3{dEf® & (ZAa@cPa fAfHT)

4. Transductive thinking / URATIF T (Trasfdea fAfHT)

Correct Answer :-

. Divergent thinking / 3TcldT @I



24) Who introduced the theory of Universal Grammar in language development?/ HT9T fasr
# gfagda aeR & Aoy N fraw qor

1. Piaget / OO

2. Vygotsky / aTSdNcadT
3. Skinner / f&ehelX

4. Chomsky / TfFahT

Correct Answer :-

« Chomsky / i

25) Intelligence is a product of both and environment./ i;l_;aﬁﬂ'ﬂT, sk
TATERUT g FT UF 31 ¢

1. Culture / FEPHTA
2. Community / HETA
3. Heredity/ 3TTeJeRUehell

4. Society / HATST

Correct Answer :-

« Heredity/ 3TefdRTeheT

26) The Minnesota Paper Form Board test is a test which measures one’s

/AT 9uT B a1 qdetor, th qdisor g sy Rl Y @Y Agar @)
1. Verbal Reasoning/ #lf &% dd

2. Aptitude/ JIIAT

3. Personality/ e fhca

4. English Skills / 373 apierer

Correct Answer :-

« Aptitude/ TNTIT

27) A student is asked to find different methods to evaluate the value of pi. This would mainly
involve which of the following operations? / T& ST &I 9I31TS & AT HI H‘?'qTEb_rl' I & fow



et yorreh 1 7ira F F AT FgT AT ¥ 59H AT w0 F Aafaf@a & & Fla @
TR enfAer gem?

1. Evaluation /EFLFCIW

2. Convergent thinking / 3TTRART idet
3. Divergent thinking / 3799 Ria=

4. Learning / 3Ta1sT

Correct Answer :-

« Divergent thinking / 3T98RY [”Rid=r

28) Classical conditioning was developed by: / FaTfl@®d FHeareraer (Rufafed
Yeldhae AT A reqaee) foeer F & frwd qanr sl e 8

1. Bandura /ET'U§1T
2. Pavlov / UTdelld

3. KohIer/EI"ﬂ'e’-?lT
4. Piaget / TUamat

Correct Answer :-

« Pavlov / UTdella

29) Selecting specific stimuli through sensation is a characteristic of: / AT & HIHOH I
fafRry SEv= &1 987 FA o1 Sfaer @

1. Attention / IdYT
2. Critical thinking / 3Tt fideT
3. Concept / YO

4. Perception /g

Correct Answer :-
« Perception / aTY

30) Animism is the belief that everything that exists has some kind of consciousness. Which of the
following does not describe the idea of Animism in children at the pre-operational stage of



development? / TdTcaTg Ig fayrT g f5 <t $© i Hivg 8 39 fell ysR @t 9a1 81
ﬁaﬁ?aﬁﬁwﬁm%ujmmwwaiﬁﬁm%ﬁawmmﬁﬁ
Al 8?2

1. A child who hurts his leg while colliding against a chair will happily smack the ‘naughty chair’./
Teh dedl St Ueh PHal & T §U 30 W Al e ggdrr & Gl & <RI ol o
ehol I |

2. A child dresses up as “fireman’ for a fancy-dress competition / thll 38 gfaaifaar & fow e
T BRRAT & § A IR BT &

3. A high mountain will be thought of as ‘old’/ T 5 Tdd &I QAT HAT AT

4. A car which won’t start will be described as being “tired’ or ‘ill’/ Teh HR 5 A& el fopar
ST 38 'ehT §IHT AT 'NAR IAAT ST |

Correct Answer :-

« A child dresses up as ‘fireman’ for a fancy-dress competition / e 38 gfaAfar & fov v
I BRRAT & FT F IR BT &l

Topic:- General Hindi (L1GH)

1) ‘A& MIF F I A¥ AR F&aT FT Fr Al
qE AT HeI HASN Higdr g oAt

9g ATT IS FT BIT HE §

a1 38 s

a1 Yo ged WE@e H aren g F S Reder
HET MAF HT IR H

a¢ A9 I FAerar mar & g Frer @

AAF 9 R H Afea a=l & Forer A

@Y T g &

IT A FEHA F AR

T AT § HEHAT §I TF IeTeq A

a9 HIaER & TUE B T @ ¥

ST AT 81 AT TAF F1 NS FeT ;T WA
A 3W I Rarar @ 3wH s

o9 98 AfafEar ar

dREcd® & Id S8 oerdT & 3HHT Tl



YU WY BISCAT g ICATE ¥ el gIAT

AT & @ ShAT o ARar gan

st AET AAF F TG quTr

FEI ¥ TAT AT § HIGHR T Fa

Fefl-wolt ag aF @ & a1 & 3wFT WY

Ig 9a= & v @ a7 e a8 ¥

3k 7g & BT @ T o wwar

AT ST T T[T

3R 3@ Imare H S oF REF ww gas & §

IT YA FAT FY FAT A I A S P ¥

39 Rperar a@t

FHHT ATSAAT FAS AT A

T a7 gz Fr qgE AT qF I a T FT 3ca] qAqBTI
yee: YO JIY IS g oo 3T T §IT, FW IR H FT-W1 g A §?

2) AET ThF & T A A T FT q A<
qE TS FeI FAR Hiad §§ At

Ig ATT IS FT BT HE §

a1 38 sy

a1 Yoo FaH HE@S I qrer T F F$ Nedar
qET MAF HT IR F

q¢ A9 I FAemar mar & g Frer @

IEAF 9 FR A Ffed aet & e #

@ T gl ¥

T 39 & WA FY AHHT



wm%mgaﬂwm#

aq WIAHER & T T FHIS EaT ¢

ST AT 81 AT AAF F1 NS FeT ;T WA
S 3¥ I feTaT g1 3w q9I

S gg AR ar

dREca® A F9 do AT § IHHT AT

YO /Y BISCT g ICATE IFA el gIAT

AT & @ ST o ARar gan

a3t AET AAF F TEW quTT

FE @ TAT AT § WIAHPR FT TR

Fei-welt g A & & Aar ¥ WS WY

Ig 9a= & v F a7 e aAd1 &

3T 77 5 T @ oI 91 wehar §

WET?;H?TTF'T

3R sEd AT & o T RS @™ TS & ¥

T 9 TG T FAT o 36 HY ST P §

39 Rperar @t

3HA AT FASAT ST AR

T 1T gz F1 9EE AT qF I aT G2 FT 3ca} qA3CI
YeeT: 9% Yoo TeraY HIEA W qTeT qT FT FAT @ WhAT 87
1. P FINIPR

2. P RRAER

3. BIS Bl

4. IS HATPR

Correct Answer :-

. ®5 NeAER

3) AT TEF F AT AW A T FT @I A<
IE IS eI FAGR Hiaeh §§ o€

qE AT MAF F BT TS ¢

g1 39T fasy



a1 Yoo TFT HEA I3 T g F FS Redar
qET MAF HT TR H

q¢ A9 I FAamar mar & g Fer @

IF AT Ha¥ H FAfed aEt F orer H

B T P ¥

T 39 & FEH F AEST

TSl ST § $TEhl §IT U IHeleq A

a9 WIAHR & TS FT YT I@§aT §

ST AT 81 ATT TAF F1 NS FeT ;T WA
AW 3W I Rarar @ 39 T

o9 98 i@ ar

dRETd® # 9 do8 AT § FHFT TAT

SO | BISA §§ IeATE I g gam
m#wﬁmgﬁfﬁwgan

aslt qET TAF F FEH ST

FE @ TAT AT § WIAHR HT TG

Fef-Faft ag It & & qar ¥ 3wHT WY

Ig 9a ¥ AT @ ag e adf ¥

3R 7§ & f5e @ o o w@war ©
AT ST FHT [T

3R 3N AT F A oF RES @% gors & ¥
T YA FR F AT T 3o AT AT FIAT |

39 fawerar adt

3HHT FIIAT FHST AT AR

T 1T eI Fr gEF AT qF I q I FT 3ca] A8
gee: TR FI A0 §C TE SN FACAT § HET TAF HT GS FeT gI..... ?
1. "T1AT

2. gRoTH

3. HFATA

4. TR

Correct Answer :-



4) AET TAF F T A HY Fa FT Y el
qE HTATS FeI FAAR Hiac §§ At

qE AT MAF F BT TS 8

a1 3qFT sy

a1 Yoo TaFT W@ I3 T g F FS Redar
qET TMAF HT TR H

q¢ A9 3o FAamar amar & wrEher Fer @

IF AT Ha¥ H Ffewd aEt F orer H

@Y T e §

T 39 & FEH F AEHC

Tl ST § $EhaT §IT U IHeTeq A

a9 WIAHR & TS FT YT IgaT §

ST AT 8 AT TEAF F 9SG FeT ;T WAl
AW 3¥ I Rarar g 3§ 99T

o9 98 AfafEar ar

dRETd® # 9 6 9T § IHHT AT

SO WY BISA §§ IeTE I g gam
m#wﬁmgﬁfﬁwgan

aslt qET IIF F FEw FuTAr

FE @ TAT AT § WIAPR HT TR

Fefl-woft ag 4f @ & a1 § 3WFT WU

g ga & AT B ag srker adl ¥

3R 7§ & fT @ o o w@war @
AT ST FHT [T

3R 3N AT # A o REE @% gors & ¥
T YA FGR F AT T 3o A AT FIAT |

39 facwerar adt

3HHT FIIAT FHST AT A

T 1T gz Fr gEF AT qF I q G FT 3ca] qAqBTI



YeT: AT AIF F FIT SUTAT FIAHR Fgl § Tl AT g2
1. TSt
2. BUS
3. el

4. THATA

Correct Answer :-

5) HET AAF F I N A T F1 WY A
qE TS HeI FAN Hiadr §§ oAt

qF HAET TAF F BT 7S ¢

a1 3gFT sy

a1 Yo gea WEe AR aren gF F S Reder
qET MAF $T IR H

a§ IOt Ao FAerar I3 ¢ R Fwe &

ATF 9 HaX H AT a=l & Sorer A

@ g T §

I A @ FEH B AR
wm%mganwmﬁ

9 WIAFER & TAE F TS @ &

ST AT @ ATT TAF F N FeT §IHT WA
A 3@ IIE RaTar & sHF T

S g Afaf@ar ar

ARECAF # F9 o AT § IHPT I

YO WY SISl §§ ScAle AT Gar gam

AT & @ ST o FARar gam

asft AET AAF F TG quTar

FE A TAT IHTAT § WIAAPR FT TR

Fell-welt aF o & & a1 ¥ 3WET WY

g 99 & v T a5 srdar 7@ ¥

3R 77 F R & 9 o @war @



AT ST G T[T

3R 3R AT # o F RES @® gos & ¥

AT A9 FGT FT FAT A 356 T AT FAA F

3W Ramerdr gt

FHET FFSAAT FAS AT A

T 71T ggier Fr ggH AR (@ I TS WA FT 3ca} IdAB0I

Yool HET AAF Y IS H q§ IH9el AT Fa @ Aamar smar g2
1. Ui T &

2. ACTDIT A

3. YfAF BT &
4, GARNE I YEATT &

Correct Answer :-

o Ui BT A

6) ATT ITF & °C oI AR FAT FT WY &t
qE JHTaTS HeI FASN Hiadr g oAt

9g ATT IS FT BIeT HE §

a1 3gFT sy

a1 Yo gea WEe A aren gy # S Reder
qET MAF HT IR H

q¢ A9 I FAemar mar & g e @

AAF 9 R H Afea a=l & Forer A

@Y T e &

T IS & @ B ATEET

wm%mgmwm#

a9 HIaER & TUE A T @ ¥

ST AT 81 ATT TAF F1 NS FeT ;T WA
S 39 I1g Rarar @ 3w T9qeT

o9 98 i@ ar

dREcd® & Id S8 oerdT & 3HHT Tl

mea’lsaﬁﬁmmﬁmgm



AT & @ SHT o AREr gan

st AET AAF F TG quTar

FEI ¥ TAT AT § HIGHR T Fa

Foft-weft a7 af & & a1 § 39w WY

Ig 9a= & v @ a7 e ad ¥

3t 7 fF R @ T o war
AT ST T I

HR 3HHY AT A S fwd @6 G & §
IT YA TAT FY FAT A 56 A Y P ¥

39 Rperar st

3UHT ATSIAT HAST AT AT

T a1 gz F qgER AT qF I q G FT 3ca] qAqBTI

YoT: AT TS HY FH AT F WY IAHR A HGTS gq AT 87

1. AP
2. SqOY
3. UIH

4, I Y AR

Correct Answer :-

. TTA FF A

7) HET IIF F G A WY T HT WY el
qE TS FeI FAAR Hiac §§ At

qF AT MAF F BT 418 §

1 3FFT sy

a1 Yoo TR WG A qTer T F P RedaR
HET TAF HT IR H

q¢ A9 I FAemar mar & g Fer @

AF AT Ha¥ 1 Ffew At F orer H

@ g g ¥

T 9 & @A FoATEEC

mm%mgmwm#



a9 WIAHR & FAE F FHS @ §

SHT FATAT @ AT TEF FT NS FeT g FraA
S 30 I1g Rarar g 3w Tu e

S g Afaf@Ear ar

dREca® # F9 do AT § IHRT AT

SO WA BISA §§ IcTE I g gam

AT & @ ST o AREr gan

a3t AET AAF F TEW quTr

FE @ ToT AT § WIAPR HT TR

Fft-weft a7 af & & &1 § 39w WY

Ig 9a & v & ag rder ag &

3T 77 5 R @ oI 91 wehar @
AT ST FHT [T

3R 3EH AT A St vE BEF @ goAs &< ¥
T YA FGR F FAT A IS AT S FAT |

39 facerar adt

3HA! AT HASAT AT AR

T T g F gEF AT qF T a9 FHL3eal aqsTl
YeT: HIAPR & ATLAA ¥ HId 8 TR & AFadl T AN Hehed HT G 87
1. 1Y I arelt P 3R

2. A0 H TEA URSHHA A arel AT 3R

3. #I Tl T 3N

4, g arell P 3R

Correct Answer :-

o AU H T TRAHA o dTel b AR

8) AT TNF F AT AW Y T F1 Wy A
qE AT FeI FAGAR Hiac §§ ff

qF HET MAF F BT 71 ¢

a1 3qFT sy

a1 Yo TaFT W@ I3 T g F FS Reder



qET TF HT IR H

a6 et Ao FAerar I ¢ urhe Fwe &

IF A Ha¥ F sfewd aet F sorer #

BT T Fe ¢

T 39§ A F AEHT

T AT § HEHAT G T Ieweq A

a9 HIAFR & TATE FT FAT @l ¢

ST AT 8 ATT TAF F1 NE FeT §IHT WA
A 38 I Rarar @ 3@ q99T

S g A ar

dREca® A 9 doe1 9T § IHHT AT

9O WY SIS §§ IcHTE I gier gan
m#wémgﬁrﬁwgan

aslt HET AAF F TG qETET

FE F AT AT ¥ HIAHN FT TR

Fef-paft ag ot & & a1 ¢ 3w WY

g 9a ¥ AT fF a8 srder a8 ¥

3t 77 F BT @ amar S wwHar §
AT ST FHT [T

3R FEd AT F o vH R qw FoAE & ¥
T H9S TR F FAT A 35 AT AT FIAT |

3@ fawerar a@gt

FHHT FSAAT FAS AT A

T 1T gz Fr GEF AT qF T q IoT FT 3ca] qqBTI
YReT: AAH HIA § FCH FT AU HEhal §IHT Fgl Tol STl §?
1. T 3ee H

2. O 3l

3. 79 & aeT

4. A | 3T
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9) HET M F AT AW HRY F&E FT WY
qE HATS FeI FAN Hiad §§ oAt

Ig ATT IS FT BT HE §

1 3qFT sy

a1 Yoo FaH HE@S I qrer T F F$ Redar
HET TAF HT IR A

q¢ A9 I FAemar mar & g Frer @

IF A Ha¥ 1 FAfew At F Forer H

@ I @l §

a1 9 & @A oS

Tl ST § HEHAT §IT TF HeTea A

a9 WIAHR & FIE F THS @ §

ST AT 81 AT AAF F NS FeT ;T WA
¥ 30 I1g Rarar @ 3Har T= T

S g Afaf@ar ar

dRETd® # 9 dS 97T § FHHT Tl

YO WY BISCl § SAIE ¥ gl §IAT

AT & T@ ST T AT gan

a3t AET AAF F TG quTr

FE { TAT AT § WIAHR HT T/

Fef-paft ag At & & qar ¥ 3WHT WY

g 99 & v T a8 srdar 7@ ¥

3R 77 & f6 @ o o wwar @
AT ST FHT [T

HR 3HHY IS A S o fowd @6 G & 7
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3HA AT FAST AT AR
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1. TR A

2. ddet Bl

3. WA B

4. AR A
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o TYRY P

10) HET AAF F T W A T F WY
IE HTATS eI FAGR Hiae g§ oA

qF HET MAF F BT 7§ ¢

a1 3qFT sy

a1 Yo gaa e AR aren g F #S Reder
qET T+ H IR A
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FE A TAT AT § FIAAPR FT TR
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1. RN areeh

2. arafod dreen

3. A9l dleh

4 F
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11) {ET S & I S H T HT q &t
qE TS HeI FAN Hiadr g oAt

Ig ATT IS F1 BIeT HE §
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qET TMAF $T IR F

q¢ A9l I FAemar mar & g wrer @

TEF 9 R A FRT a=t F sorer F

@ T gl ¥

AT HIA & FOEH FY AR

wm%mgaﬂwm#

qq WIAER & TS T WIS EaT ¢

ST AT 8 AT AAF F1 NS FeT ;T WA
S 3¥ I feTaT g1 3w FuI

S gg AfafeEr a
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AT & T@ ST o ARar gan



a3t AET AAF F TEW quTT

FE @ ToT AT § WIAHPR HT TR

Fei-welt g A & & Aar ¥ WS WY

g 99 & v T ag srdar 7@ ¥

3T 77 5 R @ oI a1 wehar @
WWTG!T?}FTWT
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T YA FGR F FAT A 3o AT S FAA |

3@ fwerar agt

3HA AT FAST AT AR

T a1 gz F qgER AT qF I q G T FT 3ca] qAqBCI
veeT: MAF fREd Ffed a=t # @ I g2
1. 3 &6

2. qES &

3. AT H

4, 37X T
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o HR A

12) AET IS & T A¥ 7R F&aX F1 @y A
qE TS FeI FAAR Hiac §§ At

q¢ AT MAF F BT TS ¢

a1 3qF sy

a1 Yoo gea W@ H aren g F A Redar
qET TMAF HT TR H

q¢ A9 3o FAamar mar & g Fer @

AF AT Fa¥ H Ffed At F orer H
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T 39 & FEH F AEHC
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a9 WITHR & TIE FT YT T §



ST AT 8 ATT TAF F1 NS FeT ;T WA
AW 3¥ I Rarar @ 37 T

o9 98 AfafEar ar

dREca® A 9 do AT § IHHRT IAT

SO WY BISA §§ IeUTE I g gam
m#wﬁmgﬁfﬁwgan

aslt qET TIF F FEW FuTAT

FE F TAT AT § HIAFR HT TR

Fef-Faft ag It & & qar ¥ 3w WY
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AT ST FHT [T
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3@ Rwerar agt
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yeat: Fof-aft ag It & F SO F QU LA § 3T ARI?
1. fF a5 ot & amar §

2. 1% ag e T &

3.1 a8 dee ¥

4T aE P A E
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« b g8 31l € &

13) {ET AAF & I N A T FT q At
IE HTATS HeI FAGR Hiae g§ oA

qF HET MAF F1 BT 7§ ¢

a1 3qFT sy

a1 Yo gad e AR aren g F FS Reder

qET T+ H IR A



a§ IOt o FAerar I ¢ urhe Fe &

AAF 9 HaX H AfeT a=l & ST A

&1 I FIe ¢

T 39 & FOEH F AEHT

TAT AT § HEHAT §I T Ieweq A
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aRETa® # J9 Yo FraT § IHHT T
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AT & @ ST 5 FRar gan

aslt AET AAF F TG quTAr

FE A TAT AT § WIATPR FT TR

Fef-paft ag ot & & qar ¢ 3w WY

g 9d= & fav % ag 3Far 781 ¢

3 77 @ BT @ T o wwar §
AT FT FHT T

3R 3EH AT # S F RIS @% goars & €
T HUS TR F AT T I8 AT ST FAT |

39 Rwear adt

SHHT ATSAAT HAST A AR

T 1T gz Fr gEF AT qF T q T FT 3ca] qAqBTI
We: WIAHR AT MF F qa9a & HfaRkaa ik F=1 g Ramar 82
1.9 & Sa gg Afar@ar o
2.3 q PI$

3. ST SITSTT SISTTam AT

4. 9 9% WeldT AT
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. g o J9 ag AifatEar ar



14) AET TEAF F T AW A TR FT @17 A
IE HTATS eI FAGR Hiach g§ oA

a6 HAET TAF F BT 7S ¢

a1 3qFT sy

a1 Yo TaHT W@ I3 1T g F F$ RedEr
qET MAF HT IR A

q¢ YT Aot AaTar A ¢y F @
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@Y I T §

I IS & A B ATEST
amm%mgmwmﬁ

a9 WIAFER & TAE F TS @ B

SHT ATl § ATT TAF FT NS FeT gI;HT WA
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S g AT ar

ARACa® # oIF A5 FAAAT § SHHT AT
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3raTe & @ AT F& @ gan

st AET AAF F oG quTar

FE ¥ TAT AT § HIGHR T Fa

wefl-weft @F o & & qaT ¥ 3WH W@y

g 99 & v T a8 srdar 7@ ¥

3k 7g F BT @ T o wwar
AT ST T T[T

3R @ Imar # S oF REF ww gas & §
IT YA TAT FY FAT A 6 A S e ¥

39 Rperar a@t

FHHT ATSIAT FAST AT A
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WRe: el T P FAT o IoT $T oY FIRAY § 38 FAT AT THST AT ART?

1. 3HPT IShUdd



2. 3T AfATEITaT
3. 3H&T Il
4. 3T fA®erar

Correct Answer :-

o 3hI famerar

15) HET AAF F T S A T F WY A
qE AT FeI FAGAR Hiac §§ ot

qF HET MAF F BT 7§ ¢

a1 3qFT sy

a1 Yo TaFT W@ 3T T g F FS RecdeR
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&Y T e §
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m#wémgﬁrﬁwgan
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g gaX ¥ AT fF ag srder 7@l ¥
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IT YA TAT FY FAT A 56 A Y P ¥

39 fawerar gt

3UHT AT HAST AT AT

T 1T gz Fr qgF AT qF T q G FT 3ea] @B

wee: Y & Aafas WraER 1 I A Al 9w F 7 gwsm s aiRe?

1. 3HPT HJSIAT
2. 38T aRyeFadr

3. 3ThT TABeIdar

4. 3P THeIdT

Correct Answer :-

16) 3T Yoig Yd # $© W Thdes 81 ATI T BT WA 21 IR A ot o1 3 o & ofrer ¥ 3 o v
€ v o U1l g 95 @ 418 @ Twa F R vy gd o @ et oft i 71 7€ 2, a6t Sw oz wx-wwd
W fpam TR X IFdl? T@A-¢@d T8 & 9IGa 4 U1 i gl 1T SY TAUTHH f& $T RH & 81 11 §H
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FIag § W ST Bl UNG g1 Hedl, DS A IR il 86T 8, HUS Al &1 971 § | 30+ IR W PIO$ I,
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AfeTHa F HRAT I BT T 08T 81 39 $A a9 # e &1-891 Wis §ian 31 Fias St dl 7 &
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T : g §¢ P1as 4 R USd 82

1. 9T S

2. @ S

3. PGl ST

4, fcdr S
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owj_\q-
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3ifpd 3@ it IR YT BRaAT & 9 B 301 84 Biet 21 bR o9 Frus Wer §@ o o 319 ) Y, a9
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1 Ad gt &

2. lel @ T

3. aXHA o

4. g @ o
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18) 37T Yoig Yd # $© W Thdes TE1 ATI T BT WA 2u1 SR A ot ot 1 3 o & ofrer ¥1 3 o vt
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1 IR Pr

2. H| @t

3.0 &Y

4, HrIg A
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o Hrag A
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2.3 el
3. BT Pl

4. UIsd Hol
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2. @l L
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4, g P 9T
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Topic:- General English(L2GE)

1) Fill in the blanks with the most appropriate preposition in the given sentence.

A learner’s language development infancy three years of age will depend on their exposure to
the language.

1. by, to
2. by, from
3. from, until

4. across, until

Correct Answer :-
e from, until
2) Fill in the blank with the correct option in the given sentence:

After exercising for six hours, she fell down due to exhaust--.

1. ---tion
2. ---sion
3. ---ance
4. ---ing

Correct Answer :-
e —--tion

3) Choose an appropriate modal for the given sentence:

I expected that I get a high score in Maths.
1. can

2. may

3. would

4, should

Correct Answer :-

e would



4) Choose the most appropriate determiner in the given sentence.
officer in the field has a key to the building.

1. Every

2. Many

3. Some

4, Most

Correct Answer :-

5) Choose the appropriate prepositions for the given sentence:

My mother, having her tea, settled a cozy armchair.
1. before, for

2. on, by

3. of, in

4, after, into

Correct Answer :-

o after, into

6) Choose the appropriate conjunction for the given sentence:

My friend did not play well, did I.
1. neither

2. either

3. because

4. only

Correct Answer :-

e neither



7) Choose the appropriate antonym for the highlighted word in the given sentence.

My father entered the room with an agitated look on his face.
1. Amused

2. Pompous

3. Cruel

4, Serene

Correct Answer :-

e Serene

8) Choose the appropriate option that rewrites the given sentence in its active voice.

Suggestions are invited sincerely by me for further improvement of my book.
1. | have sincerely invited suggestions for further improvement of my book.

2. | am sincerely invited suggestions for further improvement of my book.

3. I sincerely invited suggestions for further improvement of my book.

4. | sincerely invite suggestions for further improvement of my'book.

Correct Answer :-
| sincerely invite suggestions for further improvement of my book.

9) Choose the appropriate synonym for the highlighted word in the given sentence.

Logging causes a great deal of environmental damage.
1. Cutting down of trees

2. Blocking

3. Making log cabins

4. Flooding

Correct Answer :-

« Cutting down of trees



10) Choose the option that best transforms the sentence into its Indirect form:

He said, “"God is great.”

1. He said that God is being great.
2. He said that God was great.

3. He said that God is great.

4. He says that God is great.

Correct Answer :-
e He said that God is great.

11) Choose the option that best explains the highlighted expression:
This camera of mine has seen better days.

1. is now in poor condition

2. is new and working well

3. was not working well

4. is good and working well

Correct Answer :-

e is now in poor condition

12) Choose the option that best explains the highlighted expression:

To run out of mental alertness is worse than to run out of physical fitness.
1. To have plenty of

2. To be deprived of

3. To be drained of

4. To possess

Correct Answer :-

e To be drained of

13) Choose appropriate articles for the given sentence:



Chief Minister and Prime Minister are attending ___ meeting at 10.00 am.
1. No article required, the, a
2. The, a, no article required
3. The, the, the

4. The, a, the

Correct Answer :-

» The, the, the

14) Read the sentence carefully and choose the option that has an error in it:

I have scarcely no qualms about the rights and wrongs of my doing.
1. I have scarcely no qualms

2. about the rights and wrongs

3. of my doing.

4. No error

Correct Answer :-

* | have scarcely no qualms

15) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

What is cartography?
1. It is a photograph of the earth.

2. It is a drawing of the earth.



3. It is the study of map making.

4. It is a graph of the earth.

Correct Answer :-

e ltis the study of map making.

16) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.

How has GIS helped companies in decision making?
1. By providing real time interactive map features

2. By providing an assortment of information

3. By providing artistic maps.

4. By providing digitally printed maps

Correct Answer :-

» By providing real time interactive map features

17) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their decision making process through real time
interactive maps.



In this passage, “clay tablets” mean:
1. Aflat slab of clay

2. A capsule made of clay

3. A floor made of clay

4. A small portable computer

Correct Answer :-

« Aflat slab of clay

18) Read the passage carefully and answer the question given below:

Cartography is the study and practice of map making; it is a combination of science of data
collection, data analysis and the art of data representation and aesthetics. Maps help us in
understanding our surrounding better by graphically representing the different spatial features.
Maps convey geographic information about weather, topography, routes, town plans and culture
depending upon the type of map. Early forms of cartography were practiced on clay tablets and cave
walls that depicted the immediate surroundings. With the advancement of technology and
exploration the maps were produced on papers that depicted areas that various explorers travelled.
Today maps show an assortment and plethora of information. The advent of technology such as
Geographical Information Systems (GIS) allows the collection of spatial data easier. Information
technology has gone through rapid changes, and GIS is one of them. It has helped various
companies and governments institution in their. decision making.process through real time
interactive maps.

Find the synonym of the word Plethora.
1. Abundance

2. Variable

3. Understandable

4. Legible

Correct Answer :-

e Abundance

19) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick



The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Where was the speaker after he fell sick?
1. At the park

2. At school

3. In the garden

4, At home

Correct Answer :-

e Athome

20) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said



But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

Who said, "Shoo...get out of here”
1. Child

2. Teacher

3. Mother

4. Baby

Correct Answer :-

e Mother

21) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

What is the literary device used by the speaker in this line:
On my hassled, hapless mother.
1. Alliteration

2. Metaphor



3. Simile

4. Onomatopoeia

Correct Answer :-

o Alliteration

22) Read the poem carefully and answer the question given below:
Yesterday I got sick

Because of all the germs around me
So I stayed indoor and planned a trick

The thought filled me with glee

On my hassled, hapless mother
Busy making an eggplant dip
Hard at work in the kitchen

With the baby at her hip

Shoo... Get out of here, she said
But baby gave me a smile
So I hid outside for my next victim

I knew I only have to wait a while.

The speaker got sick because of .
1. germs

2. the sun

3. over eating

4, dust

Correct Answer :-

23) Choose the right tag:



They were late as usual, ?
1. did they

2. didn't they

3. weren't they

4. were they

Correct Answer :-

* weren't they

24) Choose the option that substitutes the given phrase appropriately.

A doctor who specializes in the treatment of children
1. Obstetrician

2. Entomologist

3. Pediatrician

4. Gemologist

Correct Answer :-

e Pediatrician

25) Choose the correct word to complete the given sentence.

My brother and __ are going to spend _____ vacation at a seaside resort.
1. they, theirs

2. he, his

3. me, its

4.1, our

Correct Answer :-

26) Choose the appropriate tenses to fill in the blanks in the given sentence:



Every day, thedog __ at the gate and the gatekeeper ____ him.
1. wait, feed

2. waits, feeds

3. has waited, feeds

4. is waiting, is fed

Correct Answer :-

o waits, feeds

27) Choose the most suitable option to express the meaning of the sentences combined together.

The wind blew. The lightning splashed. The rain started falling.
1. The wind blew, the lightning splashed but the rain started falling.

2. The wind blew, the lightning splashed while the rain started falling.
3. The wind blew, the lightning splashed when the rain started falling.

4. The wind blew, the lightning splashed and the rain startedsfalling;

Correct Answer :-

e The wind blew, the lightning splashed and the rain started falling.

28) Fill in the blank with the correct option in the given sentence:

An organization wants of its employees.
1. loyal

2. loyalty
3. loyally

4, lawfulness

Correct Answer :-

29) Fill in the blank with the correct option in the given sentence.



My father’s computer is five years old and it needs to be --graded.
1. super-

2. up--

3. down-

4, de--

Correct Answer :-

30) Change the given statement to indirect speech.
She asked, “"Do you go to school every day?”

1. She asked me that if [ went to school every day.

2. She asked me if [ went to school every day.

3. She asked that if I go to school every day.

4. She asked that do you go to school every day.

Correct Answer :-

» She asked me if I went to school every day.
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